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Instructions for Candidates

I.  Write your Roll No. on the top immediately on receipt of this question paper.
2.  Attempt all questions, selecting any two parts from each questions.

Answers may be written either in English or Hindi; but the same medium shouid
be used throughout the paper.
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1. (a) What is the significance of the steady state capital per worker? How is the
Golden Rule level of capital defined? Explain the transition paths of output,
consumption and investment per worker when saving rate is decreased to
achieve the Golden Rule level. (2.5+2+3)

(b) “An increase in the rate of savings has no impact on the long - run rate of
growth in the basic Solow model without technological progress, while it
causes an increase in the rate of growth in the AK model!”. Elaborate by
distinguishing the basic assumptions underlying the two models. (7.5)
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(¢) The production of new goods, or new ideas, requires the possibility of
earning profits and (herefore nccessitates a move away from perfect

competition. Explain this in the context of the Romer model. (7.5)
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2. (a) What is the consumption puzzle? How does the permanent incom]'e hypothesis
explain the puzzle ? (5+2.5)

(b) Explain the process of determination of equailibirium in the housing market
in the short run. What are the factors that determine the position of the
demand curve? (4.5+3)

(c) What are the implications of Friedman’s version of the demand for money
for fiscal policy? (7.5)
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Discuss the behaviour of income, consumption, savings and wealth over the
life cycle of a consumer according to the life cycle hypothesis of consumption.
Suppose an 80 year-old and a 30 year-old each received a lottery winning
rupees one crore. Which one will increase their consumption more? Explain
why? (5+1+1.5)

Explain the flexible accelerator model of investment. Give two reasons why
firms may respond to the difference between the desired and the already

existing stock of capital and not to the rental cost of capital. (5+2.5)

What is the random walk hypothesis of consumption? What are its implications

for economic policy? (4+3.5)
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Since the effects of policy are uncertain, more active policies lead to more
uncertainty. Explain this statement in the context of using monetary policy as
a tool to expand output during recession. (7.5)

Derive how the evolution of the debt to output ratio depends, among other
things, on the differance between the real interest rate the growth rate of
output. ) (7.5)

What is the policy ineffectiveness proposition? Explain the three basic
assumptions of the model. (3+4.5)
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5. (a) Whatis inflation targeting? Elaborate its usclulness in the short-run and the

medium-run. (2.5+5)

(b) What are the two main types of asset price bubbles? Discuss some of the
policy responses to possible bubbles. (3+4.5)

(c) Critically analyze the New keynesian approach to explaining business cycles.

(7.5)
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